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Choose A, B, C, D, or E for the correct answer.

. LISTENING SECTION
In this section of the test, you will have the chance to show how well you understand spoken English. There
are four parts to this section, with special directions for each part.

Part One

Questions 1 to 3

Directions:

In this part of the test, you will hear some dialogues spoken in English. The dialogue will be spoken twice.
They will not be printed in your test book, so you must listen carefully to understand what the speakers are
saying.

After you hear a dialogue and the question about it, read the five possible answers and decide which one
would be the best answer to the question you have heard. Now listen to a sample question.

You will hear:

Bo : Have you finished doing your homework?
Gir : Not yet.
Boy : Do it right away. The class will begin soon.

You will also hear:
Narrator: Where does the conversation take place?

v i di test book Sample answer

ou will read in your test book:

Atschool{ &® O O OO
At home.

At a store

At the mall

At the market

moow>

The best answer to the question ‘Where does the conversation take place? is choice (A), ‘At school'.
Therefore, you should answer choice (A)

1.

Openin? acan
Asking for help.
Meeting a friend.
Making breakfast.
Buying some food.

moow>

get a prize

join a contest

win a contest

come on time

give some comment

moow>

She was relaxing

She was studyinﬂ.

She was taking the exams.

She was going with the man.

She was preparing for the contest.

moowy

Part Il

Questions: 4to 8

In this part of the test, you will hear several questions or statements spoken in English followed b
five responses, also spoken in English. The questions and responses will be spoken twice. They will
not be printed in your test sheet, so you must listen carefully to understand what the speakers are
saying. You have to choose the best response to each question or statement.
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Now listen to a sample question:

You will hear:
\I\//IVoman : Good morning, John. How are you? Sample answer
an
You will also hear: @ O OO

A. |am fine, thank you.

B. lamin the living room.

C. Let me introduce myself.

D. My nameis Hendra Gunawan.

E. | have been here since this morning.

The best answer to the question ‘How are you?’ is choice (A), ‘I'm fine, thank you.’
Therefore, you should choose choice (A)

4. Mark your answer on your answer sheet.
5. Mark your answer on your answer sheet.
6. Mark your answer on your answer sheet.
7. Mark your answer on your answer sheet.
8. Mark your answer on your answer sheet.

Part lll

In this part of the test, you will hear some dialogues and a monologue spoken in English. The dialogues and
the monologue will be spoken twice. They will not be printed in your test book, so you must listen carefully to
understand what the speakers say.

After you hear the dialogue or the monologue and the question about it, look at the pictures and decide
which one would be the best answer to the question you have heard.

A 1
B. 2
C. 3
D. 4
E. 5
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B. 2
C. 3
D. 4
E. 5
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Part IV
Questions 12 to 15
Directions:

In this part of the test you will hear several monologues. Each monologue will be spoken twice. They
will not be printed in your test book, so you must listen carefully to understand what the speakers
are saying.

After you hear a monologue and the questions about it, read the five possible answers and decide
which one would be the best answer to the questions you have heard.

12.

Disney’s childhood

Life in Kansas City
Disney’s unhappy life.
World War | incidents.
Disney’s education and job.

moowy

13.

moow>
S
OCOOOO
_)aaa0
O©oo~N—-O

14.

Sunlight affects.

Seasonal affective disorder.
Substances in human brain.
Szmptoms of body disturbance.
The causes of a medical disorder.

moow>

15.
A. It lessens the production of melatonin and serotonin.
B. The chemical substancetproduced in the brain stops
C. People are in the state of listlessness.
D. It causes severe cold weather.
E. People gain weight

I.LREADING SECTION

Text 1 is for number 16

This is the end of the listening section

Hasna!

Mom is going to Indo Mart Supermarket to get some snacks as you
wish. Would you like to heat the cold sphagetti for your brother?
Use the microwave, 180°C, 4 minutes will be fire. Serve in the
dining room and then ask your brother to eat it there.

16. What is the message about?
A. Telling Hasna to eat the sphagetti

. Asking Hasna to buy some snacks

B

C. Asking Hasna to go to supermarket
D. Telling Hasna to use the microwave
E

. Telling Hasna to heat the sphagetti

Text 2 is for number 17

Pursuant to the Minutes of The Last Extraordinag/, General Meeting of Stakeholders of “PT SYNERGY
TECHNOLOGY CONSTRUCTION? (in liquidation) Xhe compara/), as stipulated in an authentic deed
numlberd82, dated 27 January 2012, passed Maria alim, SH, notary in Batam City, it was
resolved:

nnastasia
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1. To confirm and agree to accept the last financial report and liquidation account of the company.

n

To accept and approve that the liquidator of the company

w

To confirm and agree that the liquidation of the company has been fully completed.

Batam, 10 February 2012
Liquidator,

Drs, Bernardi & Co
17. Which of the following is NOT mentioned in an authentic deed number 827
Accept the last financial report of the company
Accept the liquidation account of the company
Accept that the liquidator was given a full discharge

Agree that the liquidation of the company has been discussed

moow >

Agree that the liquidation of the company has been fully completed

Text 3 is for number 18

18. Which of the following thing is not included in the price?
A. A full physical training at the space centre
B. A comfortable accommodation on the space hotel.
C. Space walks with a team of ex-Nasa scientist and astronauts.
D. The flight from Cape Canaveral to the space hotel.
E. The flight from one’s country to Cape Canaveral

Text 4 is for number 19 to 20
Chinese Indonesians celebrate New year

JP. Chinese Indonesian in Cirebon, West Java, prayed at temples, watched lion dances and lit fireworks as
they celebrated Chinese New Year on Sunday.

The celebration kicked off at 10.00 p.m. on Saturday with people of Chinese descent streaming to temples
and denoting money to people living in poverty.

Just before midnight, the revelers lit 200 candles in Dewi Welas Asih temple and another 100 candles in

ﬁ]\lang temgle.
ey praye

for a better

future,

Kompas.com

reported.
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A lion dance was then performed and 800 fireworks were lit to ward off bad luck.

19. Chinese Indonesian in Cirebon did the following things to celebrate Chinese New Year, except:
Praying at temples
B. Watching lion dances
C. lighting fireworks
D. Donating money to poor people
E. Having camp-fire near the temples

20. Why did the people light the firework in celebrating the New Year?
. to make celebration fascinating
to woke utp the people to the temples
to fight off bad luck
to grab the fortune
to spend their money

moow

Text 5 is for number 21 to 22

Arnold Schwarzenegger was born in Thal, Austria, four miles (6 km) from Graz, to a Gendarmarie —
Commandant policeman, Gustav Schwarzenegger (1907 — 1972) and his wife, the former Aurelia Jadrny
1922 — 1998). His parents were member of the Nazy party.
fter working in the United Kingdom for a short time, and with $20 in his pocket, and not fluent in English, he
moved to the U.S. citizen in 1983, although he had also retained his Austrian citizenship. During this time,
he earned a B.A. International marketing of fithess and business administration in 1979.
Schwarzenegger married TV journalist Maria Shriver, niece of the late president John F. Kennedy. The
couple have four children; daughters Katherine and Christine, and sons Patrick and Christopher. Together
the couple owned a home in the fabled Kennedy Compound.

21. What does the text mainly tell us about?
A. The wife of Arnold Schwarzenegger
The biography of Arnold Schwarzenegger
The difficult moment of Arnold Schwarzenegger

The profession of Arnold Schwarzenegger

mGo o

The family of Arnold Schwarzenegger

22. ... although he had also retained his Austrian citizenship (paragraph 2).

The underlined word has the closest meaning with ... .

A. had D. gained
B. left E. made
C. lost

Text 6 is for number 23 to 25

As water flows in rivers, it picks up small amounts of mineral salts from the rocks and soil of the river beds.
This very-slightly salty water flows into the oceans and seas. The water in the oceans only leaves by
evaporating %and the freezing of polar ice), but the salt remains dissolved in the ocean - it does not
evaporate. So the remaining water gets saltier and saltier as time passes.

The salinity (salt content) of ocean water varies. The oceans and seas contain roughly 5 x 10 ¢ tons of salts.
One cubic foot of average sea water contains 2.2 pounds of salt.

The oceans are about 3.5% salt (by weight). Salinity is generally reported in terms of parts per thousand
Sabbreviated %o), the number of pounds of salt per 1,000 pounds of water; the average ocean salinity is 35
%o The saltiest water is in the Red Sea and in the Persian Gulf, which have a salinity of about 40 %.(due to
ver% high evaporation rates and low fresh water influx). The least salty seas are in the polar regions, where
both melting polar ice and a lot of rain dilute the salinity.

23. Why does the oceans salty?
A. Due to evaporating process
B. Because the salt remains dissolved in the oceans
C. Due to mineral salts from the rocks and soil of the river beds
D. As the result of flowing very-slightly salty water into the oceans
E. Because the oceans and seas contain roughly 5 x 10 '8 tons of salts.
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24. What makes seas in the polar regions are the least salty?
A. Low fresh water
B. The freezing of polar ice
C. Very high evaporation rates
D. Small amounts of mineral salts
E. Melting polar ice and a lot of rain

25. ... but the salt remains disso/ved in the ocean - it does not evaporate.
The underlined word means ....
A. melted
B. freeze
C. hardened
D. evaporate
E. disappeared

Text 7 is for number 26 to 28

The number of vehicles always increases in the city. Vehicles are the main source of pollution. It
causes serious illness and traffic jams.

Firstly, vehicles, as well a{I know, cause most of the pollution. You know, because vehicles emit a
deadly gas that causes illness such as bronchitis, lungs cancer and asthma. Secondly, many vehicles cause
traffic jams in busy hours. Thirdly, vehicles are very noisy. It can cause noise pollution. Loud noise, as a
matter of fact, may cause deafness.

In conclusion, the number of vehicles must be decreased for the reasons listed

26. What is the suitable topic of the text?
Traffic jams

A deadly gas

Serious illness

Traffic jam in busy hours

The main source of pollution

27. Which of the following statements is NOT TRUE based on the text?
The number of vehicles is getting larger

Vehicles are the source of all pollution

Traffic jams are caused by vehicles

Vehicles cause noise pollution

Vehicles produce a deadly gas

moow>

moow>

28. You know, because vehicles em/f a deadly gas that causes illness such as bronchitis, lungs cancer
and asthma. The underlined word means ....

pick up

release

obtain

gain

use

Text 8 is for number 29 to 31

moow>

Nuclear power is generated by using uranium, which is a metal mined in various parts of the
\1/\/%%1 The first large-scale nuclear power station was opened at Calder Hall in Cumbria, England, in
Some military ships and submarines have nuclear power plant for engines. Nuclear power
produces around 11 % of the world's energy needed, and produces huge amounts of energy. It

causes no pollution as ¥ou'd get when burning fossil fuels.
The advantages of nuclear is as follows:
It costs about the same as coal, so it's not expensive to make.
Itf?oetsn't produce smoke or carbon dioxide, so it doesn't contribute to the greenhouse
effect.
It produces huge amounts of energy from small amount of uranium.
It produces small amounts of waste.
It Is reliable.

On the other hand, nuclear power is very, very dangerous. It must be sealed up and buried for
many years to allow the radioactivity to die away: Furthermore, although it is reliable, a lot of money
has to be spent on safety because if it does go wrong, a nuclear accident can be a major disaster.

People are increasingly concerned about this. In the 1990's nuclear power was the fastest
growing source of power in many parts of the world. In 2005, it was the 2" slowest-growing.

29. What is the purpose of the text?
A. To explain nuclear in general
B. To describe nuclear biggest station
8. To warn the danger of radioactive
E.

kR0 D=

To present the disadvantages of nuclear power
To discuss the advantages and disadvantages of nuclear power

Latihan Soal UN dan Ujian SNMPTN /PTS 2012/2013 7



30. The opposite of dangerousis ........ (Paragraph g)

A. vile calm
B. dull E. safe
C. tiny
31. Why is nuclear power very dangerous? Because ....
A. its radioactivity lasts long D. it is cheap
B. uranium is renewable E. it is safe

C. it is reliable

Text 9 is for number 32 to 34

The best film that | have seen recently is neither the blockbuster G/adiafor nor the war film Pear/
Harbor, which | did not enjoy. It is Chocol/at, directed by Lasse Halstrom.

It set in a small French town in the middle of the 20™ century. One day, a young woman (Juliette
Binoche) and her daughter arrive in the town. After that, they rent a shop from an old lady (Judi Dench) and
sell delicious things made of chocolate. Unfortunately, it is during Lent, a time when people are not meant to
enjoy eatin%thin%s and the mayor of the town (Alfred Molina) starts a campaign against the shop. However,
despite all the difficulties, Juliette Binoches’s character survives with the help of the old lady and a traveling
Irishman (Johnny Deﬁp).

In the end, the shop is successful and even the mayor comes to enjoy its chocolate. Although it is
possibly too ‘politically correct’, the film successfully deals with the themes of intolerance and prejudice. The
acting is excellent, especially that of Juliette Binoche. Both Judi Dench and Alfred Molina are also excellent.
There are some dramatic moments, such as the fire on the Irishman’s boat. All things considered, | would
really recommend you to go and see this film.

32. What is the text mainly about?
A. A comparison between ‘Chocolat’ and other movies.
B. A synopsis of ‘chocolat
C. A successful film deals with political issue.
D. A review of a movie entitled ‘Chocolat’
E. The latest film that the writer didn’t enjoy

33. The best film that | have seen recently is neither the blockbuster G/adiafor nor the war film Pear/ Harbor,
which | did not enjoy.
The sentence above means:
A. The writer en'oyed both of the film
The writer didn't enjoy the blockbuster,Gladiator.
. The didn’t like both of the film
. The writer like either the blockbuster or the war film.
The writer have seen the war film ... and the blockbuster ...

hich of the following is TRUE according to the text?

The film is set in the middle of French town

The story begins with a campaign against eating chocolate

The writer do not recommend to see the blockbuster Gladiator or ...
. The writer have seen ‘Chocolat’ recently
E. The film deals with political issue.

B.
C
D
E.
34. W
A.
B.
C
D

Text 10 is for number 35 to 37

Once upon a time there was a poor widow who had an only son named Jack. They were so poor
that they didn't have angthing except a cow. When the cow had grown too old, his mother sent Jack
to the market to sell it. On the wag to the market, Jack met a butcher who had some beautiful beans
in his hand. The butcher told the
sell the cow for the beans.

Jack brought them happily. When he told his mother about this, his mother became so angry that
she threw the beans out of the window.

When Jack woke up in the morning, he felt the sun shining into a part of his room but all the rest
was quite dark and shady.

So he jumped to the window. What did he see? The beanstalk grew up quite close past Jack's
window. He opened the window and jumped to the beanstalk which ran up just like a big ladder.

He climbed ... and climbed till at last he reached the sky. While looking around, he saw a very
huge castle. He was very amazed.

hen Jack walked along the path leading to the castle. There was a big tall woman on the
doorstep. Jack greeted her and asked for the giantess mercy to give him breakfast, because he felt
very hungry. Although the giantess grumbled at first, finally she gave Jack a hunk of bread and
cheese and a jug of milk.

oy that the beans were of great value and persuaded the silly fad to
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Jack hadn't finished when the whole house, began to tremble with the noise of someone's coming.
"Oh! It's my husband!" cried the giantess. "What on earth shall | do?"
Hastily the giantess opened a very big cupboard and hid Jack there.
35. Jack's mother looked very furious when Jack told that ........
the beans were precious
the butcher bought his cow
C he had sold his cow to a butcher
D. he traded his cow for the beans
E he met a butcher on the way to the market

Ow>

36. "Oh! It's my husband!" crled the giantess. (Paragraph 7)

"What on earth shall | do?

From the sentence we know that the giantessiis ........ her husband.
afraid of

c};ry with

up with
annoyed with
displeased with

!"".U.O.l'-u.:‘>

37. What do we learn from the text ........

Sincerity makes Jack get something precious.
Jack's mother was a furious mother.

Poverty makes people hopeless.

The giantess took pity on Jack.

Jack was an innocent boy.

moow>

Text 11 is for number 38 to 39

102 East End Eve
Jakarta, JKT 11480

February 13, 2012

The Redaction Team
Jakarta Post
Jakarta, JKT 11480

Dear Sir or Madam,

I'm one of the citizens of our beloved country. Through this letter, | would like to share some of my
thoughts to criticize our governor’s performance.

For these past three years, | think he has been much more talking than acting. Instead of busy
sticking up his posters of himself around the city, | really expect he would give attention to water
conservation, to plant more trees and to expel street vendors because it's endangering the pedestrians. He
claims he is an expert. But it seems he has no capability to manage our beloved city.

| hope you can publish my letter to bring this problem to the surface.

Yours truly,

Fauzan
Fauzan Muflih

38. What is the communicative purpose of the text above?

To give information about upcoming governor election
To tell about who the current governor in the city is

C. To complain about the governor’s performance

D. To advertise the letter in the newspaper

E. To announce the new-elected governor

ow:

39. What does the author want the governor to do?

To reduce taxes and manage water conservation

To concern about water conservation and street vendors
C. To eradicate illegal residents

D. To withdraw his poster around the city

E. To do more action than talking

ow>
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Text 12 is for number 40 to 42

The fox is a clever mammal that has large ears and a long, bushy tail. It lives in many different habitats,
including forests, deserts, scrub, plains, grassland, and Arctic snow. Many live in the area where forests
meet farms. Foxes are found in Europe, Asia, Africa, Australia, and North and South America. A fox can live
up to 13 years in captivity. Predators of the fox include the wolf and man. Foxes will double back on their

own tracks in order to confuse their enemies.

A male fox is called a renyard, the female is called a vixen, and the baby is called a kit. A group of foxes
is called a skulk or leash.

Foxes range from 14 to 39 inches (36 to 99 cm) long with a tail 7 to 20 inches (18 to 51 cm) long. The
Ion(?, bushy tail, sometimes called a sweeg, helps the fox change direction qhuickly and keeps the fox’s feet
and nose warm when it curls up to sleep. Foxes have sharp, curved claws, sharp teeth, and thick, insulating

fur.

40.What is the text about?
A. A n explanation of a fox
B. A discussion of a fox’s life
C. The life of wild fox
D. A description of a fox
E. Characteristics of a fox

41.The fox is a clever mammal that large ears and a long bushy tail.
The underlined word means . . . .
Funny
Wavy
Bigger
Fancy
Hairy
42. fox can change direction very quickly with its ....
sharp claws
sharp teeth
large ears
bushy tail
thick fur

mMoow»> MUOws

Text 13 is for number 43 to 45

Kakadu National Park is one world heritage list. It is one of the few sites in the world included for
both outstanding cultural and natural attraction. The park is located in the tropical north of Australia, 120
kilometers east of Darwin. It covers total area of 19,804 square kilometers.

Kakadu contains features of great natural beauty and sweeping landscapes. Its most outstanding
landforms include extensive wetlands and spectacular ‘walls of rock’.

Moreover, Kakadu National Park contains a wide range of flora and fauna. There are more than 60
species of mammals, 289 species of bird, 132 species of reptile, 25 species of frogs, 55 species of
freshwater fish and over 10,000 species of insects.

Beside Eucalyptus forests, woodlands cover much of the lowland area in Kakadu National Park.
There are even small areas of monsoon rainforest. During wet season, rivers and creeks flood and spread
out over the board flood plains to form vast wetlands, where ducks, geese and wading birds abound.

43 The text describes about ...
A. Kakadu National Park
B. the heritage of the world
C. species in the national park
D. natural beauty park
E. flora and fauna

44  What can we conclude about Kakadu National Park?
A. ltis the most outstanding park in the world
B. the park gets flood due to the lowland area.
C. the park has a wide variety of tropical plants.
D. There is no species of flora like in Indonesia.
E. Indonesia has more variety of fauna than the park.
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45. ltis one of the few sites in the world included for both outstanding cultural and natural attraction
( paragraph 1)
‘outstanding’ means ...

A. strange
B. familiar
C. famous
D. unique
E. funny

No. 46 and 47 has no relation with the text.

46. Arrange the sentences below into a good order:
1. By the time he talked to me, the car had already been sold to the teenager.
2. Two days ago | put an ad in the classified section of the newspaper so I could find a buyer for my old
car.
3. It was bought by a teenager who was looking for an old car to fix it up.
4. Today a friend of mine told me he wanted to buy my old car, but he was too late.
5. Yesterday | sold it.
TEe good ord1er of the above story is:

47.
a) BoA’s parents signed the recording contract
b) BoA started an acting career
c) BoA didn't appear in the 2005 movie Goorg because of her schedule.
d) BoA had to work hard to develop her natural musical talent.
e) BoA went to her brother’s audition
f) The record executives asked her to sing and offered her a contract.

The good sequence of the story is:
Ag\. e-f-a-d-b-c

B. b-f-a-d-c-b
C. d-c—-e-f—-a-b
D. e-d-f-a-b-c
E. b-c-e-f-a-d

For number 48 to 50, complete the passage below with an appropriate word/phrase

Petroleum, or crude oil, is one of the world's (48) ----- natural resources. Plastics, synthetic fibres, and many

chemicals are produced from petroleum. It is also used to make lubricants and waxes. (49) ----- , its most
important use is as a fuel for heating, for generating electricity, and (50) ----- for powering vehicles.
48.

A. as important

B. most important
C. so importantly
D. less importantly
E. too important

49,

A. Therefore
B. However
C. Moreover
D. Hence

E. Rather

50.

A. decisively
B. exclusively
C. especially
D. favorably
E. notably

GOOD LUCK!
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